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x-1 RO IR L & B

e T I B T B e
(mm) (mm) (mm) (mm)
P1-hunch D22-4 - - -
P1-hunch| 1000 4 | 250 | D224 | 306 | D135 | 266
P1"-hunch D22-4 | 303 | D66 | 256
P2 D22-4 - - -
P2’ 1000 4 | 250 | D22-4 | 306 | D135 | 266
p2" D22-4 | 303 | D66 | 256
P3 D19-3 - - -
P3' 600 3 | 200 [ p19-3 | 305 [ D10-6 | 235
P3" D19-3 | 303 | D66 | 219
P4 D19-4 - - -
P4 800 4 200 | D19-4 | 305 | D10-6 | 229
P4" D19-4 | 303 | D66 [ 215
Vi 420 35 | 120 |-D162 - - -
VI D16-2 | 143 | D62 | 123
V2 525 35 | 150 |-2162 - - -
V2! D16-2 | 173 | D62 | 153
V3 D16-2 - - -
V3 630 35 | 180 | D162 | 203 | D62 | 183
V3" D16-2 | 205 | D102 | 187
V4-hunch 630 35 180 D16-2 - - -
VA4'-hunch D16-2 | 203 | D62 | 183
V5 468 26 | 180 |-D162 _ _ .
V5' D16-2 | 203 | D62 | 183
V6 540 3 150 | D162 . - -
V6 D16-2 | 203 | D62 | 183
Vi 630 35 | 180 |22 - - -
V7' D132 | 203 | D62 | 185

x-2 a7 U — hBLOHEEM ORpEE

2 rY—h S JE R
AR | FEMETREE | 5I5RIRE | PMECRER [ FEMASREE | 53R | MR EL
(N/mm?) | (N/mm?) | (kN/mm?) | (N/mm?) | (Nfmm?) | (kN/mm?)
Pl-series | 36.2 3.1 28.5 35.3 - 20.5
P2-series | 35.4 2.7 29.0 36.3 - 20.3
P3-series | 34.4 2.8 28.3 38.3 - 20.6
P4-series | 33.2 2.9 28.6 41.8 - 20.6
Vi-series| 35.0 3.2 29.2 63.0 5.7 21.9
V2-series 34.6 3.0 29.3 60.0 5.7 225
V3-series| 334 3.0 26.4 60.9 5.7 23.1
V4-series | 343 3.1 33.7 60.3 5.7 23.2
V5-series | 37.7 3.2 322 62.6 5.7 23.8
V6-series | 40.7 3.2 316 62.1 5.7 23.3
V7-series| 37.6 3.6 30.0 62.6 5.7 23.2
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Bt Hh sz{@’é%ﬂzh Jé/u[ifﬁlqz}‘?m %‘fﬁ%ﬁfﬁ*ﬁ'ﬁﬁkk ‘

FAMEKN) | BAEFEKN) [ oz | @& | @

P1-hunch 50 210 091 | 082 | o085

P1"-hunch 50 200 096 | 085 | 090

P2 40 220 096 | 08 | 090

p2" 30 234 113 | 100 | 106

p3’ 50 220 105 | 084 | 092

p3" 60 210 114 | 086 | 098

Py’ 40 220 114 | 090 [ 098

P4" 46 198 113 | 086 | 097

V1’ 40 67 104 | 092 | o097

V2! 32 75 107 | 097 | 101

V3’ 60 81 108 | 100 | 104

V3" 60 81 103 | 096 | 099

V4'-hunch 60 82 109 | 1200 | 104

V5 60 78 090 | 082 | o086

V6' 40 84 100 | 092 [ 096

V7' 56 74 107 | 099 | 102

Vit 104 | o091 | 097

IR EV 7.6 75 6.7
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Vc=0.20(f.’pw)*d ¥*{0.75+1.4/(a/d)}b,.d (1)
ZZiZ,

d=(As1d1+As02)/ (A1 +As2)

Pw=100(As1+As)/( byd)

Vc=0.20(f, pw)d, *{0.75+1.4/(a/d)}bud,  (2)

ZZlZ,
pW:lOO(Asl+A52)/(bwd2)
V=Va+Ve (3)
ZZIZ,
V1=0.20(Feie(Pur*Puz)) °d1 *{0.75+1.4/(a/d 1) }byds
V2=0.20(foxpuz) 2 ™*{0.75+1.4/(ald) Hou(d-dy)
pwlleOAsll(bwdl) ' pw2=100A52/(bwd2)
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